A, SE, 71Hol7h A "ol 540m? Q1 =2 HH|7] & st 9 &
o] Al gAe} 7] Holut 5t 12 Y, SH el 7] Holt 5HH 15 Y o]
Aol oy, §AF SRR tﬁﬂﬂﬂa TE, T ARl sk

HH7IE & 5 e =2 Wele?

@ 28m? @2)39m? @ 42m? @ 49m? ® 54m?

A, 51, 71807t obF B BHIZIE & 4 = =9 HolE
k2t a, b, ¢ 2Fal SEA}

1
a—|—b—|—c-540><§ a+b+c=60 ---O

a+c-540><— — da+c=45 ~oo(D)
b+c—540><— b+c=36 ~-©

O= 9l ?Jo}tﬁ b+45 =60, b = 15(m?)

©= O°l HYSHH a+ 36 = 60 , a = 24(m?)

utetAd g eF SE7F @7 skl BHZIE & & e =2
WolE 15 + 24 = 39(m?) °|tt.




AN y=x + 4y = x + 22 yEZ W0 2 outE PJo| %
Jjz=olt}, F O uet x= yE 02 A =3 9] Yol=?
D 10 @ 3 3)6 @ 4 © 2

y=x+4°1A yEHL 4, xEHL 4

Uiy

y=x+294 ydHL2 2, x2AHLE -2

T It xF, yF0 2 EeA 299 Yol
1 1
—X4xX4—-—-—X2X2=
2 2 o




